ENGLISH COMPREHENSION

Directions (1-2) : 1y, the fol
lowing Queslions, some part of the
sentence may have errors. Find out
which part of the sentence has an
error and select the appropriate op
ton. Il a sentence s free from ervor,
select "No error,

L. The Kamleshwar reservolr in
the sanctuary (1)/ 1s a best
place (2)/ to see the marsh
crocodile. (3)/ No error (4)

2. The people of Orleans, while
(1}/ they Arst saw her in their
(2)/ city, thought she was an
angel. (3)/ No error (4)

Directions (3—4) : In the fol-
lowing questions, the sentence giv.
en with blank is to be filled in with
an appropriate word. Select the cor-
rect alternative out of the four,

Directions (7-8) : In the follow
INg questions, out of the Biven four
allernatives, welect the one which

18 opposite in meaning of the given
word,

7. Angat
(1) Casualness
(2) Anxiety
(3) Insecurity
[4) Disturbed

8. Progress
(1) Gain [2) March
(3] Retreat  (4) Rise

9. Rearrange the parts of the sen-
tence in correct order.
Of Homer's two
P: has always been more
Q : epic poems, the Odyssey
R : popular than the Iliad

(1) Anjall say she eat g, , i3
Vilh.
[2) Two guavas are ey, T
Anjall,
(3) Anjall said that she g, I
Bulavis,
(4) Anjall sald she paj Wi gy
vas
12. In the following questign p
word has been wrilten n fosr
dilferent ways out of which
only one 18 correctly spely &,
lect the correctly spelt worg
(1) Guardian (2) Gardian
(3) Guardiun [-HG.‘IIJrrh;m
Directions (13-17) : |n the
lowing passage, some of the words
have been left out. Read the pas
sage carefully and select the corree:
answer for the given blank (aum-
bered) out of the four alternatives

(1) PQR 2) RPQ Division of labour is the [aw
3.The sniper was able to ____ (3) QrP (4) QPR in the organic world as in the in
twa. rebels, 10. A sentence has been given in | dustrial world. Animals (13) the Jow-
(1) shoot of Active /Passive Volce. Out of | &5t type, such as the amoeba, c!o nat
(2) shoot with the four given alternatives, se- | Nave scparate organs for respiration,
(3] shot lect the one which best ex- ﬁLﬁH::gnBuﬁ:lmgi:;]nm;g::h
14) shoot down presses the same sentence in organ not only has its own specific
4. Once upon a time there Passive/Active Volce., work, but even within the same or
a dragon named Erasmus. They organised the fair in a #an each part has its own particu-
(1) live (2) lived local park. lar function assigned, (18) we have
(3} liven (4) living (1) The fair was organise in a | seen that the (18) parts of the neu-
Directions (5-6) : In the fol- local park, rone probably perform different
lowing questions, out of the given [2) The fair was organised in a | functions, the cells generating en-
four alternatives, select the one local park by them, ETRY and the fibers (17) it
which hnuw:hemmmag (3) ’Ihcial.rlsbungorganm:d 18. (1) form (2) for
of the given word. in a local park. [3) of (4) at
5. Ebullient {4) The fair would be organised | 14 (1) high (2) higher
(1) Sober in a local park (3) highest (4} height
(2) Enthusiastic 11. A sentence has been given in IG-I[nThuu (2) 11
Unadoptabie Direct/Indirect Speech, Out of 3) Than (4) Why
:::Wmu-y the four given alternatives, se- 18. (1) twice (2) pair
6. Superfiuous lect the one which best ex- (3) together  (4) two
(1) Compulsory presses the same sentence in 17. (1) vansmi
e Indirect /Direct Speech, | o)
g Integnty ‘*._' sald, "I eat two gua- (3) transmitted
{4) Immoral g (4) wansmitting




of the idiom/pl
18, Last but not least
()

e clasi fadlure usually

21T I 18 the
VO,

133 in the

&

oy o
L in

but nt L

Impartance.
18, Go belly up
{1} Co bankrupt,

12y ep afler being very tred
I Eat food and rest.
4] Die unexpectediy,
Directions (20-21) : In the fal
lowing questions, oul of the four
alternatives, select the allernative
which is the best substitule of the |
waords,sentence.
20. Deprived of or lacking of
something
1) Bereft 12) Haleyon
7%, 181 Snug [4] Crpaslent
!h.ﬁlldnor“d.ﬂtamhodlndin
mman form

I]! Imp
(3 Spirit
Directions

1Z) Incarnate
[4) Qgre
[22-23) : In the fol-
lowing guestions, out of the four
aliernatives, select the alternative
which will improve the bracketed
part of the sentence. In case no im-
provement s needed, select “No im-
provement”,
22, Dur body's wisdom (know)

whiat 18 best for us.

11} knows.

12) knowing

31 knewn

(4] Ko kmprovement

23, The humanitics and the ars

[has been ghven) shart shrill.

in primary, secondary and ter-

‘Hary education,

[1] have been given

(2] have being given

(3] have been give:

(4} Noimprovement

€ In correcy arder.
I'!ll'w-l entirely
Lhes

hat he would do the

nssure

. meediul that night iselr
12) BAC

(1} ACB
[3) ABC
< In the foflowing
words are given out of which
ane word iIs correctly spelt
Select the correctly spelt word.
(1} disconcerried

(2) desconcerted

[3) desconcerried

(4] disconceried

| GENERALINTELLIGENCE

28. In the following question, se-
leet the related word par from
the given allernatives -

Sand : Desert::7:7
1] Ocean : Waler
2] Pond : Water

(3} Eal : Smoke

[4) Waler : Sea

27. In the following guestion, se-
lect the related number pair
from the given aliernatives :

J2:2a::7:7
1) 17:24  (2112:18
[3) 10:20 (4} 13:18

28. In the lollowing question, se-
lect the related letter/letiers
from the giver allernatives :
ORS; NQR :: GHK : 7
1] FGJ 121 FiL.

13} HIL 14) HIM

28. In the following queslion. se-
lect thie odd ward pair from the
Eiven altermatives :

(1] Herbivorous - Horse
2] Herblvorous — Zebra
13} Camivorous - Bear
|4} Herbivorous - Elephants.

30. In the lallowing question, four
number pairs are given. The
number on keft side of | s
related io the number on ihe
righit side of | with some Log-
i/ Rule fRelation. Three are
similar on basis of same Log-
Ig/Rule/Helation. Select the

odd one out from the given

oplions.

dismissing iheir cane, he |

stion?

I. Massive
3. Method
5 A h

1) Masssve
13} Methes
23. In the fall
lect the missing m
the given
26, 13.5,
Rt
3] 1184

{4) 844
34, A series is given with one term

missing. Select the cormect al
ternative fram the grven ones
ithat will complete the series.

EPRWLZT
(o I21F
3 E [E1):]

35. In a row of boys, Rakul s 315t
from top and Vinod s Si3rd
from botieen. There are 22 bovs
between Vinod and Rahul
There are 15 girls in other fow
Hew many minimasm stsdenls

are there?
(1) &5 2172
I3 ™ 14) &0

38. From the given allernalives,
be: formed using the letlers of
ithe given word.
MISINFORMATIVE
[1) FORM ' [2) MOTIVE
(3) INFORM  (4) MANY

F.0n a certadn code language,
“FUMES™ is wriilen as
62113515 and “MONTE" i
writien as “1315142057, Hew
Is "CARLO" written in that
code language?

1] 3LIBI215 (2) 4181206

3 4111165 (4] 21812165




- In a certain code language "~

39.

40.

4

-

42,

43.

« Which of the

fepresents 47, 4" Tepresents ‘x',
¥’ represents “+* gnd '3 repre
sents -, Find out the Answer
to the following question.
10+4-1048x2=97

(1) 39 2) 11

(3 21 (4) 36

The following equation is
correct.

In-
Which two signs
should be interchanged tg eor
rect the equation?
18+2x4+ 10 2=25

(1) +and (2) + and +

(3) - and + 4] = and
MGE#2=4 2#6=4and 144
12 = 13, then find the value of
AR24=?
(1) 8

(3) 20

(2) 14

(4) 18

following terms
lollows the trend of the Eiven
list?

CBABABABA, BCABABARA,
BACBABABA, BABCABABA,
BABACBABA, .

(1] BABABACBA
12} CBABABABA
13) BABABCABA
4] BCABABABA
A woman leaves her hut and
walks 3 km East, then she
turns South and walks 2 km,
then she turns West and wal ks
1.5 km, then she turns North

and walks 3 km, then she turmns |

to her left and walks 1.5 km to
reach the market. Where is
this market with respect to her
hut?

(1] 5 km North

(2] 1 km North

(3] 1 km South

(4] 5 km South

In this question two state-
ments are given, followed by
two Conclusions, 1 and I1. You
have to consider the state-
ments to be true ‘even if it
seems to be at varlance from
commonly known facts. You
have to decide which of the giv-
en Conclusions, il any, follows
from the given statemenis.

a4,

45,

47.

- All cigarettes are tobaceo.
- No cigar is cigarette.

. Some tobacen are cigars.
- All cigars are tobaceo.

Statements :

(1) 5. 14, 24)
(2) (9. 26, 44

(3) (15.44.74)
(4) (8. 25.39)
48. Il a mirror i
MN, ther
figure is tf
given ligure
Question Figure :

Conclusions ;

(1) Only Conclusion I follows
(2} Only Conclusion 1T follows |
|

(3) Both Conclusions I and 11
follow |
(4] Neither Conclusion I nor
Conclusion 11 follows
Int the following figure, rectan
gle represents Film directors
presents Bikers, trian-
nts Riders and
Square represe slans.
Which set of lette resents
Film directs

(1) BCD [2) BC
3] B (4)C
A series is given with one term

missing. Select the correct al
termnative from the given ones
that will complete the series.
CLH, GPL, KTP, OXT. ?

(1) SDY 2) TDX

(3) SBX [4) TCY

In the following question, se-
lect the missing number from
the given alternatives :
97,81, 79, 61,37, 7

(1) @ (207

ET [4) 5

In the following question, four
groups of three numbers are
given. In each group the sec-
ond and third numbers are re-
lated to the first number by a
Logic/Rule/Relation. Three
are similar on basis of same
Logic/Rule/Relation. Select
the odd one out from the iv-
en alternatives,




B0. A word is represented by only
one set of numbers as given in
any one of the alternatives. The
sets of numbers given in the
alternatives are represented by
two classes of alphabet as
shown in the given two matri-
ces. The columns and rows of
Matrix-1 are numbered from 0
to 4 and that of Matrix-II are

numbered from 5 to 9. A letter

from these matrices can be rep
resented first by its row and
next by its column, for exam
ple 'C’ can be represented by
21, 34 etc and T can be repre
seted by 57, 96 etc. Similarly,
you have to identify the set for
the word ‘FANG'.

Matrix-1
o[1[z]3]2]
oL |M|I|G|E
1|{e|F|H[L|T|
AREENEE
slale|E|B]|C
ARNEED
Matrix-11
5l6|7|B |9
S|Q|Z|T|S (X
6|P|U[P|W|X
7in[rlz] Y0
glrR|z|o|xX]|Y
a|wlT[R|[Y U

(1) 11,30, 75, 43
(2) 41,59, 10, 69

(3) 44,89,11,68
[4) 22, 67,40.78

QUANTITATIVE APTITU@ |

51. Find the unit digit in 11 + 2! + |

3l + 4] + ... + 500 |
m1 (2)3 |
g (3) 5 (4)8

B2. What would be the remainder
when 10° - 12 is divided by 97 |

1) 5 2) 4

3) 7 43
|
BS.1125%*¥ = 1 and 34V = —, |
27" |

then find the value of xy.

-2 2) -1 |
(3) 0 (4) 1 i

B4.fa=-7, b=5 and c= 2, then
find the value of @ + B + ¢
(1) =210 (2)-180
[3) 180 (4) 210 |

B55. What is the maxmum num
ber of commeon tangents which |
can be drawn to the circle, if
the distance between the cir
cles is equal to the sum of their

radif?
(1) 0 (201 |
3) 3 (4) 4

58. If two circles touch each other
intemnally, only _____ - com-
mon tangent can be drawn to |
them.
o 21 |
(3) 2 4)3

87. Rajiv scored 20% marks in an
exam and falled by 11 marks.
If he scored 50% marks, he gets
4 marks more than passing
marks. What is the passing
marks for the exam?
(1) 21 2)33
(3) 50 14) 45

58. A bag contains 1 rupee, 50
paise and 25 paise coins. The
value of 1 rupee, 50 paise and
25 paise coins are in the ratio
of 5: 3 : 1 respectively. If total
number of coins is 180, what
will be the total value (in Rs.)

of all coins?,
(1) 112 (2) 180
(3) 196 [4) 108

Bl.°

B2,

. To complete a wall,

If the cost price

a5% of the sel

is the t pe

(1) 185.71 Z
3 1

L (2426 3.3
1. (343 W
(1) Only I
[2) Omly 11

(3) Neither I nor 11
(4) Bath I and II

20% more time th
gether they complet
in 30 days, how mu
days) will ¥ alone tak
plete it?
(1) 55

[3) 44

12) 52

[(4) 58



66. A car covers a distance of 20
km in 15 minutes. If its speed
18 decrensed by 10 kmi/hr, what
will be the tme (in miniites)
taken by It to cover the same
distance?

150 120
LT )
, 130 150
(3) T (4) 13

Directions (67-70) : The pie
annual agricultural production of a

country. Study the diagram and
answer the |'n|lU'|-l|r|i[ questions

Value (In Rs. crores]

67. The value of annual produc
ton of which agricultural {tem
15 the most?

(1) Sugarcane (2) Pulses
(3) Wheat (4) Milk

. What is the total value (in Rs
crores) of the annual agricul
tural production of the coun

ry?
(1] 4000 (2] 5000
(3) 5500 (4) 4500

. The measure of the central
angle of the sector represent
ing the production of milk is

= degrees.
(1) 80 (2} 70
(3) 100 (4) B8O

If the value of wheal is Rs.
15,000 per tonne, how many
tonnes of wheat was produced?
(1) G000 (2] 120000

(3) GO0 | (4) 12000

The length and breadth of a
rectangle are 12 cm and 5 cm
respectively. Calculate its pe-
rimeter [in cm.).

(1) 88 (2) 20

(3) 40 (4) 34

70.

71.

1
chart shows the value of the total 74.

T2,

73.

75.

What is the sum of the mea
sures of all the interior angles
ol a regular polygon of 8 sides?

|| GENERAL i@ﬁg;’aENEss

78, Which of the g
(1) 1080° (2) 1260° a component of M
[3) 14407 (4] 1800° {1} amall time dep
Find the volume (in em?®) of a | (2] money markel
cubold of length, breadth and funcs
helght of 7.5 cm, 5 cm and 6 (3) atocks
cm respectively (4) checkable deposi
(1) 195 (2) 180 | 77.Which Five Year Fla
(3) 225 4)173 | TIFCRIE O P
T - d ization with particular er
ADEF is right angled at E. If sis on dev i
m<D = 60° then find the val ‘ and he
13 {1} First 2] Seco
ue of | col F + ,I,-I | | (3) Third [4) [
b 5 78. Which of the following
f correctly matct o
[ '_;"IH' " ,:__ [1) Khamsin
H 4 b V3 [2) Chinook - China
| (3) Sirocco - Italy
(2+243) 7 (4) Ghibli - Libya
W) =35 ‘ 70. Which 1s the highest
in India?
AXYZ 1s right angled at Y. If (1) Hirakud Dam
| (2) Bhakra dam
. what is the value | (3) Sardar Sarovar Darn

80,
s} 4
(1) 3 12) =
3 »

{4) Tehri Dam
Whom did the M
the festival of Navaroz
(1) Parsi

(3) Mangol

[2) Jewist

(4) Turks

+ Which of the following ret

lon oceurred due tothe rem
al of King Bharmal?

(1) Kutch Rebellion

[2) Surat Rebellion

[3) Khasi Rebellion

(4) Bhil Rebellion

» Which number of Sikh gur

was Guru Arjun Dev?
(1) Second (2 Fifth
(3) Sixth (4) Seventh

+ Which African country has

been declared polio-free coun
try by the World Health Orga
Nization (WHO) in December
20172

(1) Angola (2) Somalia

[3) Gabon [4) South Africa
Who among the following s a
winner of inaugural Times
Power Women 2017 Award?



aa.

ao.

B7.

88.

aa.

(1) Shabana Azmi

(2] Krishna Gandhi

(3) Hema Malini

(4) Shabnam Asthana

What 18 the national bird of
Pangladesh?

(1) Magple Robin

(2) Blue-throated barbet

(3) Green-billed malkoha

|.'|] Bayn Weiver

which type of electromagnetic
radiatic

1 have wavelength in
the range of 10-11 10-8 fme
tre?
(1) Radio waves
(2) Ultraviolet waves
(3) Visible light
(4) X-rays
A device G.M counter is used
for the measurement of which
of the lollowing?
(1) Speed of air
(2) Mass number
(3) Radioactivity
(4) Valence
Every village Panchayat is di-
vided into smaller areas. What
are these areas called?
11) Gram
(2) Town
(3) Ward
(4) No option is correct.

is a document that lays
down the basic rules and reg
ulation for people and the gov-
ernment in the country to fol-
low.
(1) Rule book
(2) Regulation Book
(3) Constitution
(4) Democratic Book

. Which of the following pair

represent the CORRECT pair
of reproductive parts of a flow-
er?

(1) Sepals and Petals

(2) Sepals and Carpels
(3) Stamens and Carpels
(4) Petals and Stamens

91. The cells of sclerenchyma ts-

sue have their walls thickened
due to which chemical sub-
atance? %

‘ 02,
|

. Humankind's oldest mammal |

‘ 24,

06,

a8.

(1) Cellulose
(2) Lignin
(3) Pe
(4) Hemicellulose
In December 2017, M: L
Ministry launched a public B. In
procurement portal. What s .
the name of that portal? I
(1) M5SME Procure

(2) MSME Acquire | .
[3) M5SME
14) MSME

mbandh

athi
LA L Ill

12) Both E
() |!I ik

ancestor named Durlstother
im newmani has been discov |

ered in . |

(1] West Indies 100.

(2) India |

(3) United Kingdom formation can be
(4] China (1) TYPE = "TEXT"

In Septemnber 2017, India’s for (2) TYPE = “PASSWORD
eign exchange reserves touched (3] TYPE = "RADIO"
how much amount for the first (4) TYPE = "CHECKBOX

time?

(1) & 500 billion

(2] S 400 billion

[(3) § 600 billion

[4) $ 700 billion

The Unilon Ministry of Hous
ing and Urban Affairs launched
the “Protocol for Star Rating
of Garbage-Free Cities™ in
which state?

(1) Maharashtra

(2) New Delhi

(3) Goa

(4) Karmnataka

What is the power rating [in
W) of a bulb if a current of
0.1A passes through on appli-
cation of 250V of potential dif-
ference across its terminals?

(1) 2500 (2) 50
(3) 25 (4) 1250
More density of the particles

in the medium through which
sound travels, creates more
_ and vice versa.
(1) pressure (2) energy
(3) power (4) force
The movement of air from one
region to the other creates

(1) clouds
[3) winds

(2] Hghtning
(4) humidity
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